Aire et Périmetre des Trapezes (B)

Calculez le périmetre et 'aire de chaque trapeze.
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Aire et Périmetre des Trapezes (B) Réponses

Calculez le périmetre et 'aire de chaque trapeze.

32 4 2. N
S
> =~ >
“ - = - = [\
g | 31,5 hm E‘ g
= [ 2
o
=
32,4 0 g
o
P =888 hm flg)f)‘“
A = 378 hm?
P =92hm
A = 460,8 hm?
17 4. 3¢
\ 520122
z :
= Li — D———31,5nm———g E
~ - 16m ---L = = 5
i
4
.S
197
> P = 90,7 nm
P=544m A = 3654 nm?

A = 1592 m?

0. 13,1 dm

152 m

WP yTe
-- wp L1g -4

8,4 dm

P = 66,3 dm

P=715m
A = 233,275 dm?

A = 280,35 m?

MathsLibres.com




